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71  Which of the following is/are key difference(s) between fiscal stimulus and monetary 
expansionism? 

 1.  Fiscal stimulus is given by the Government whereas monetary expansion is done by the Central 
Bank of the country. 

 2.  Fiscal stimulus necessarily leads to an increase in money supply whereas monetary expansion 
generally leads to an increase in high powered money. 

 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
72  Justice J.S. Verma Committee recently seen in news concerns 
 A. Appraisal of Judges B. Constitutional reforms 
 C. Right to Information act D. Sexual harassment at workplaces 
73  The correct order of these Himalayan ranges from North to South is? 
 #21213 
 1. Pir Panjal 2. Zaskar 3. Karakoram 4. Shiwalik 
 Select the correct answer using the codes below. 
 A. 3214 B. 2314 C. 2143 D. 1234 
74  Consider the following about Zero Hunger Challenge. 
 1.  It was launched at the Rio+ conference by the United Nations Secretary General. 
 2.  It will fund agricultural public stockholding programmes in developing nations and assist in 

mitigating adverse effects of the climate change. 
 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
75  ‘The State of World’s Human Rights’ report is annually published by 
 A. Human Rights Watch (HRW)                            
 B. United Nations Development Programme (UNDP) 
 C. United Nations Human Rights Council (UNHRC) 
 D. Amnesty International 
76  What is often referred to as the ‘Third Pole’? 
 A. The Hindu Kush-Himalayan region B. Polynesia 
 C. Alps mountain ranges  D. Southern hill ranges, India 
77  Who establishes the Inter-State Council to investigate and discuss subject of common interest 

between the Centre and the states? 
 A. The President  B. Parliament 
 C. Governors of states concerned D. State Legislative Assemblies concerned 
78  Which of the following materialized during the tenure of Cornwallis as the Governor-General of 

India? 
 1. Foundation of the Asiatic Society of Bengal 2. Permanent Settlement of Bengal 
 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
79  The village of Ralegan Siddhi is considered a model of environmental conservation in India. It 

was made possible by the critical initiative of 
 A. Baba Amte B. Nirmala Deshpande C. Anna Hazare D. Kailash Satyarthi 
80  Consider the following statements. 
 1.  The Centre cannot delegate its legislative powers to the states in any matter whatsoever. 
 2.  A single state can request the Parliament to make a law on a state subject. 
 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
81  Sundarbans delta is formed by which of the following rivers? 
 A. Ganges and Yamuna  B. Yamuna and Brahmaputra 
 C. Brahmaputra and Meghna  D. Ganges and Brahmaputra 
82  There are many documented cases of groundwater pollution which followed coal ash disposal. 

Which of these elements in coal ash makes it so harmful? 
 1. Arsenic 2. Cadmium 3. Mercury 4. Sorbitol 
 Select the correct answer using the codes below. 
 A. 1, 2 and 3 only B. 2 and 4 only C. 1 and 3 only D. 1, 2, 3 and 4 


